Advanced Math
2-1
Quadratic Functions

What is the general form of a quadratic function?

Foo=axbxic

What is the standard form of a quadratic equation?
2
Foo=olx=-h) +k
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What are x-intercepts? “'I'; e (ine  What arc y-intercepts? [ine crasseS

eresses #he x-axis Yea¥iS
How do I find them? How do I find them?
1) sekysO 1) setx=0
2) Calewlator 2) Calewlater
calewlate—~ 2emS Troce O

What are some other names for x-intercepts (synonyms)?
1) ZefosS
2) Sahehiong
3) foets

What are the three methods for solving quadratic equations?
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2) F;wl-riﬂ x =4

3 Quedratic formule x= "_"-‘*-:‘E-
D Gomphing Caloulator

When is it advantageous to work with the general form? m.ax‘+ko c

GCood For intesccpts
x-irds > selve
y-it 3 ¢C

When is it advantageous to work with the standard form?

Ceed For moaxs and mia's
(always ot vertex)

The vertex of a quadratic is (A, k). How does the vertex relate to:

P
1) the axis of symmetry: X< k
2) the value of the maximum or the minimum? 0‘\-&5‘ k

3) the range of the function? <"“JB Maw
e~
[k,ee) wn

4) the x-intercepts?

b is balF vy betwsmen $hen

5) the input that causes the max or min? qw ‘5




‘What are the four methods of changing from the General to the Standard Form.

1) Completing the Sqpace
2) his halfway behuren He 2ems.
3) Denvative

Coleadate max Jmin

‘What are the steps to completing the square?

D i,okh c

,) 5.4- as=|

D dake b, half i+, speese it
apply fo equation

What is a derivative?

How do I find the derivative of:
1) a constant function?

2) a polynomial?  a:

b: Then suldradt 1 Fronq

Sketch the graph of the quadratic function without the aid of a graphing utility.
Identify the vertex and asymaptates. -'AM.
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Sketch the graph of the quadratic function without the aid of a graphing utility.
Identify the vertex and asymptotes.

25) h(x) = 4x2 - 4x + 21

Gomplete dhe  sypare decivmtive.
oo Tadty 2l | RedBe'-4 w4z
hode WE 2 woh Ya2i-1 o=Sx-4 /1-242I
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'Mqh aone 3@4-.7

Find the quadratic function that has the given vertex and pass through the
given point.

37) Vertex (-2,5); Point ((_)_,2)

Fo = alx- 5)1; k
F(,.) zalx l-?.)‘f =




67) A manufacturer of lighting fixtures has daily production costs of
C=800 - 10x + 0.25x2

How many units should be produced each day to yield a minimum cost?

[NORMAL FLOAT AUTO a+bi RADIAN MP n *
mLI 25X CI b‘ s
’ W= - 2
O =-10+.5
10=.Sx%
20s= x

20 waits

where C is the total cost in dollars and x is the number of units produced.

Assignment:
pg. 213
1-8 all,
10 - 42 even,
64,65,68,
70-74 all, 76




